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| FERA/AUEHES |[HERESEBEoREN| HEREHEBEOREN| HEREFBBEOREN
Bt 272. 774 115. 261 176. 546
hEt 239. 774 101. 261 158. 413
BT4% 5 33. 000, 14.000 18.133
KETH 30. 000 5.476 19. 000
B 13.000 8.000 8.076
tiEH 18. 000 5.555 17.104
Hih 15. 000 5.000 12.101
AT 6.714 6. 000 8.088
£ 4000 2.000 3.000
BES BT 4.000 0. 000 3.000
T= 3. 500 0. 000 1.000
Lo 5. 000 4.000 7.146
EiEXBTH 6. 000 0. 000 3. 000
=ih 2. 000 2.000 2. 000
Jt &gk 1.000 0. 000 3. 000
Eadning 7.000 6. 750 4,000
EESh 11.000 6. 000 4. 000
£ At 13. 000 4.000 9.000
2L I

Uf=-bihm 32.560 11. 647 8. 040
EIETH 6. 000 1.000 5.095
Bt 5.000 1.000 1..000]
STAT 12. 000 2.000 8. 000
EEKXEH 2. 000 3.000 2. 000
BRI 3.000 3.000 3.000
ik 6. 000 2.000 6.272
IETH 4.000 5.833 5.100
A B Th 1. 000] 2. 000 1..000]
NTHMND 5T 7.000 1.000 5. 250
)1

A T 5. 000 4.000 6. 055
Eevaliil 0. 000 3.000 0. 000
$2@ETH 1. 000] 1.000 0. 000
DLUEH 5 LR 6. 000 1.000 2.000]
INEETH 10. 000 5.000 2.086
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HERA/ABEBES | BEnasni oRBu| HEREHEBE ORI HEREBEREOREY
hat 239. 774 101. 261 158. 413
R AT 4.000 0. 000 2.133
KRBT 1.000 0. 000 1.000
FEL) 3. 000 3.000 2. 000
IR IRARET 8. 000 3.000 5.133
BEiEH 2. 000 1.000 1.000
AR BB 51 2.000 1.000 1. 000
X HT 1..000) 1.000 2.000
AZEERET 1.000 1.000 2. 000
ES Lol 2. 000 0. 000 0. 000
GEL] 11.000 2.000 6. 000
3a] PN T 0. 000 3.000 0. 000
FEERERET 13. 000 5. 000 6. 000
J\F{CHT 4,000 1.000 3.000
AR AT 4.000 1.000 3.000
REEHRT 3. 000 0. 000 1..000]
=] 1..000) 3.000 0. 000
REERET 4.000 3.000 1.000
FIFR AT 1..000 0. 000 0. 000
R EARET 1.000) 0. 000 0. 000




